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1 RS 105581500125392 LR 5 78 79 223 0 380 4= [ ) RN 5 i TEL 2 5 g R A
2 oAt B 105581500125399 s 75 57 187 0 319 Ed=kil FEfliR o B 5 5 B A 3L
3 Sy 105581500124341 SRR 73 61 184 0 318 o=k B i FI 2 5 0 1 A 3 A
4 e 105581500125394 et s 72 70 195 0 337 Ed=kil iR o B 5 B A 3L
5 PAE 105581500124336 LR 2 71 64 211 0 346 E=kil TRl i TE 2 5 o R A
6 BE 105581500124347 Fenihs 66 67 201 0 334 Ed=kil FEfilix o B2 5 B A 3L
7 i 105581500125387 FERILEE 5 89 66 200 0 355 4 [ 1 FERILEE 5 SR A
8 & 105581500125381 Hefihs 78 65 218 0 361 Ed=kil Ll i SR A2
9 AN 105581500125380 FERIHEE 5 77 65 193 0 335 4 [ ) FERILEE 5 ety
10 HRFA T 105581500125390 s 76 77 210 0 363 E=kl FEfiliR % i SR AL
11 Bk 105581500125388 s 76 61 191 0 328 E=kil FEfliR Ry
12 T 711 105581500124325 AR 5 74 71 235 0 380 Ed=kil FEREE ety
13 JH R 105581500124329 s 72 70 191 0 333 Ed=kil FEfliR ey
14 EESEIS 105581500125379 FERINEE 5 70 51 194 0 315 Ed=kil FEREE I SR A
15 VPR 105581500124327 s 70 50 217 0 337 Ed=kl FEfiliE TSR
16 REF 105581500124382 SRR 78 51 195 0 324 Ed=kil B S R
17 A R 105581500124374 s 74 73 246 0 393 Ed=kil FEphiE EE
18 i SN 105581500124368 FERILEE 5 73 52 192 0 317 E=kil FERlEE KRB
19 iKET 105581500326619 s 87 62 234 0 383 ElE==kil| FEfliR REY: (B
20 BRI 105581500326610 FERhEE 2 70 58 197 0 325 k4= H il FEREE HREY: (55
21 W 105581500326616 s 85 57 195 0 337 ElE==kl| FEfiliR REY: (BF)
22 T 105581500326617 FERILEE 5 75 57 180 0 312 AE4= H il FERIEE 5 HEY: (%)
23 i fR i 105581500326602 Henihs 69 55 180 0 304 Ele==kil] FEfliE REY: (BF)
24 FRA 105581500326613 AR 5 78 52 170 0 300 AF4= H il FERINEE 5 HEY: (5%5)
25 Lipled 105581500326615 Fenihs 74 51 182 0 307 qE4= H il FEfilix BEY: (B%)
26 TRAR 105581500326618 AR 5 79 50 186 0 315 4 FERILEE 5 HEY: (55)
27 ML 105581500326607 Henihs 73 46 184 0 303 Ele==kl| FEflilR BEY: (B%)
28 B 105581500326605 FERINEE 5 76 45 182 0 303 4 il FERIEE 5 HEY: (5%5)
29 44 105581500124412 FEfliE 80 7 215 0 372 Ed=kil E i FEREE (3 FES
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30 Tk 105581500125445 SRR 79 58 199 0 336 4= Hiil SRl FEMES (O TES)

31 E = 105581500125428 FEfliE 78 81 235 0 394 E=kil LAl ER % FEREE (P FES

32 EROESS 105581500124409 SRR 78 64 218 0 360 4= Hiil FEfliE FEMES (O TEY)

33 BpAs 55 105581500125439 LR 76 68 236 0 380 Ed=kil E iR HAEE (P FES

34 By 105581500125425 RN 5 75 59 189 0 323 2= Hiti FRhZE HEEY (D TES)

35 K R 105581500125423 FEAliE 74 75 201 0 350 Ed=kil E i FEREE (P FES

36 FELRIE 105581500124424 FERILEE 5 74 70 187 0 331 Ed=kil FERlEE FERES (O FEY)

37 kel 105581500125426 s 73 59 225 0 357 E=kl FEphE FEREE (3 FES

38 E 105581500125424 FERILEE 5 72 77 183 0 332 E=kil FEREE FERES (O FEY)

39 JHREAL 105581500125440 s 72 74 205 0 351 E=kil FEphE FEREE (B FES

40 HEER 105581500125438 FEREE 71 67 228 0 366 Ed=kil FEREE REES (O FEY)
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47 LB 105581500124410 s 61 64 186 0 311 Ed=kil FEphE FEREE (P FES

48 kR 105581500125417 SRR 83 72 230 0 385 E=kil B S B (FA S FHAERYD
49 FhIRAE 105581500125409 s 78 76 192 0 346 E=kl FEphE AR PR SBEAES)
50 2 4 105581500124406 SRR 78 70 186 0 334 Ex=kil B S B (FA S AR
51 L E 105581500124398 Henihs 78 63 200 0 341 Ed=kl FEphiE AR PSS HEARS)
52 IS S 105581500125418 SRR 76 76 195 0 347 Ex=kil B S B (FA S AR
53 RS 105581500124399 Fenihs 73 62 203 0 338 Ed=kil FEfhE AR PSS B4R
54 87 105581500124397 AR 5 67 58 195 0 320 Ex=kil FEREE RS (FARSHAREYD
55 AL 105581500125359 Henihs 81 59 189 0 329 Ed=kil FEfhiE s

56 25yt b 105581500124314 FERhEE 2 78 79 213 0 370 Ex=kil FEREE T

57 A 105581500124317 Fenihs 77 65 195 0 337 Ed=kil FEphiE s

58 75 B 105581500125367 FERINEE 5 76 76 198 0 350 Ex=kil FEREE T

59 B 7K 75 105581500125375 s 76 72 193 0 341 Ed=kil FEphiE s

60 pilFiisaics 105581500125370 |  HLAiE 2 74 56 201 0 331 4= H HRE A gl 2

61 T BRAL 105581500125368 Henihs 73 85 208 0 366 Ed=kil FEphiE s

62 R e 105581500124316 FERIEE 5 73 74 178 0 325 Ex=kil FERE T
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63 Ay 105581500125361 SRR 72 81 227 0 380 4= Hiil SRl Yo fle

64 HEMRT 105581500125373 s 72 72 215 0 359 E=kil FEfhiE T

65 F 105581500124319 AR 5 72 71 200 0 343 4= H SRS 2 s

66 XU A 105581500125358 HFefihs 71 61 203 0 335 Ed=kil FEfhiE e

67 5K 105581500125366 RN 5 71 61 201 0 333 4 Hil e s 2

68 YL A 105581500124306 s 70 50 212 0 332 Ed=kil FEfhiE s

69 5+ 105581500125377 SRl 69 67 188 0 324 A Hiil FEfliE G

70 REmEE 105581500125372 s 67 67 194 0 328 E=kl FEphE s

71 EANEIN 105581500125371 FERILEE 5 67 64 224 0 355 4= H RS 2 s

72 FERA 105581500124300 s 70 63 188 0 321 E=kil FEphE AR 5 H IR R 5
73 AR 105581500110402 W 66 63 105 95 329 Ed=kil A TREE A

74 [ iL R 105581500110423 AW 78 77 128 130 413 Ed=kil AW AL 5 5y T A
75 B 105581500110417 LYt 76 63 132 126 397 4= [ 1 L NS T A
76 g 105581500110420 AW 75 64 133 121 393 Ed=kl AW AL 5 5y T A
77 S 105581500110413 XY/ 74 52 90 110 326 4 [ 1) L NS T A
78 A 105581500110432 AW 72 81 125 111 389 Ed=kil AW AWML 5 5y T A
79 A 25 105581500110424 XY/ 71 68 134 119 392 4 [ 1) M S T A
80 HRAE 105581500110421 A 71 68 108 102 349 Ed=kil AW AWML 5 5y T A
81 PRV 105581500110426 Gy 71 65 101 110 347 4 [ 1) L NS T A
82 T 105581500110411 AW 71 57 111 100 339 E=kl AW AWML 5 5y T A
83 FHE 105581500110410 Lt 61 51 86 110 308 4 [ 1) L S T A
84 FIeHR 105581500110428 A 58 53 135 132 378 Ed=kl W AL 5 5y T A
85 R 105581500110436 XY/ 76 69 83 112 340 4 [ 1) W Y (EMEEY)
86 R 105581500110434 AW 74 71 105 110 360 4 H il EtyEs W CEMERY)
87 R 105581500110409 Bk 71 56 103 101 331 4 H 1 A WL

88 QER 105581500110407 AW 69 60 132 17 378 Ed=kil W bulis

89 o 5 105581500110406 Bk 67 57 97 103 324 4= H A WL

90 D 105581500110398 A 67 68 104 109 348 Ed=kil W WA
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92 fo g 105581500122451 i 79 68 248 0 395 4= Hii] %5 ppiites
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96 AT 105581500122458 7y 77 75 206 0 358 2= Hiti 2%
97 Eevechis 105581500122450 7% 71 71 216 0 358 4= Hiil IS
98 B 105581500122464 Zj 70 55 233 0 358 4= H il gy
99 B E g 105581500122477 7% 72 61 222 0 355 4= Hiil S
100 I 105581500122465 %2 74 70 209 0 353 4 H #j2t
101 NN 105581500122452 7% 75 53 209 0 337 4= Hiil IS
102 R IHA 105581500122472 2 72 68 193 0 333 A= Hiti 7%
103 i 105581500122459 i 67 63 203 0 333 E=kl IS
104 ERfiita 105581500122455 sy 72 50 211 0 333 4= H il Zj
105 Figk 105581500122456 7% 75 50 208 0 333 4= Hiil IS
106 BB 105581500122449 %2 69 69 191 0 329 4= H P2t
107 R 105581500122468 7% 67 73 188 0 328 4= Hiil IS
108 7L al] 105581500122483 gy 76 68 183 0 327 4= [ 1 Yy
109 R 105581500122466 i 66 62 199 0 327 Ed=kl IS
110 VLI 105581500122471 Yyt 68 58 201 0 327 4= H i ilrd
111 PEEFEY 105581500122486 7% 66 67 186 0 319 4= Hiil IS
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